Item Color ‘67 | ‘68 | ‘69 Comments AMK No
GENERAL Ford Corporate Blue (FCB) Engine block, heads, intake manifold, thermostat housing, bypass hose and clamps (may be
painted or natural), water pump assembly, timing cover and pointer, oil pan, oil dipstick tube,
PCV system manifold connections, U-tube and clamps, air cleaner base.
PPG Krylon Duplicolor Part Kit(s)
Semi-gloss black (SGB) Fan, fan pulley, crankshaft pulley, alternator bracket and adjustment arm, P/S pulley, A/C
brackets VHT GM Satin Black (spray can)
Natural Bell housing, accelerator linkage, distributor hold down bracket, exhaust manifolds, accelerator
bellerank Eastwood Cast Blast
Chrome Air Cleaner Lid, Radiator Cap, Oil Breather Cap, Oil Dipstick handle, Valve Covers
ENGINE BAY SGB Firewall, inner fenders, shock tower braces, battery tray, radiator support, horns
P&O Hood hinges and springs, hood latch, hood catch, accelerator bellcrank
Shock Tower Caps SGB SGB Natural
Spark Plugs BF-32 BF-32 < 4/68 BF-42 > 4/68 BF-42 Autolite
Plug wires Black/orange or Black/orange Black/orange Autolite - thermactor cars with
Black/black smog tubes have additional
protection on the wires to prevent
rubbing/wear
Valve covers Chrome — PBF* Chrome - PBF Chrome - PBF Some early '67s are not PBF but
are chrome with 3 ribbed top
AIR CLEANER & PCV
Base FCB Many variations depending on
California/49 states, thermactor or
not, export or not
Snorkel FCB n/a (p/n C8OZ-9A626-B) (# C8OF-9A626- (p/n C90Z-9A626-C) (#
Dual Screen Unit A) C90F-9D626-C)
Snorkel Attaching Bolts FCB n/a 55359-S Machine screw - Hex Washer FX B-12484
Machine Screw - Hex Head SEMS
10-32 X 3/8 5/16 AF 13/32" OD Washer
S-Tube Varies n/a C907-9652-A
Metal - FCB Ribbed Paper/Aluminum -
Black 2.02" Dia
S-Tube Attachment screw |FCB n/a 55872-S 97262-S
Tapping Screw Hose Clamp - Tangentail Screw No| 68 Screw fixes base of snorkel to
Hex Washer Head - Type AB Slot Band 2 3/16" 2.22" Open ID h hield ' 69 cl fi f
#8-18 x 1/4"L x 11/32" (.322/.348) OD 2.00 Closed ID .50" W 1.25" Screw| €4t Shie clamp fixes top o
Length tube to snorkel
Heat Shield FCB n/a
Air Cleaner Motor/Flapper |Zinc n/a C80Z-9D612-A
Lid Chrome C727-9602-C C727-9602-C
16 3/4" diameter 16 3/4" diameter
Lid Gasket Rubber C877-9673-A
Lid Hold Down Nut Chrome 358871-S Wing nut CL B-12933

1/4-20 1.25 WIDE




Item Color ‘67 ‘68 ‘69 Comments AMK No
Filter Element Orange ring/paper
Valve Cover Oil Breather  |Chrome 67 FoMoCo push-on, 68/69
Cap Autolite twist-on (Motorcraft was
used for 68/69 service
CB8AZ-6766-A CB8AZ-6766-A replacement)
Valve Cover Oil Breather  |Zinc
Cap Fitting C772Z-6767-B C772Z-6767-B C8AZ-6767-B

Valve Cover Oil Breather
Hose

Rubber - Black

Valve Cover Oil Breather
Gasket

Cork

Valve Cover Oil Breather
Grommet

Rubber - Black

C8AZ-6A892-D

C8AZ-6A892-D

C8AZ-6A892-D

PCV Valve Zinc C70Z-6A666-A 6A666 C70Z-6A666-A
PCV Valve Fitting C70Z-6A706-A C70Z-6A706-A C70Z-6A706-A
PCV U Tube FCB C80Z-6758-B

PCV to U tube Hose

PCV Front Manifold Fitting |FCB C7AZ-9A474-A

PCV Rear Manifold Fitting |FCB C80Z-9A474-A

PCV Rear Manifold Second |Brass C80Z-9A474-B (AT)

Fitting

U-Tube to Rear Manifold FCB

Fitting Hose

PCV Hose Clamps FCB C6AZ-18572-A

PCV Valve Grommet Black rubber C7AZ-6A892-A C7AZ-6A892-B C7AZ-6A892-A

AIR CONDITIONING

Compressor

SGB or Natural cast
aluminum

York and Tecumseh A/C
compressors (68 - York may be
natural aluminum finish).

Compressor Bracket

SGB

Compressor Bracket to
Block Mounting Bolts

Compressor to Bracket
Mounting Bolts

Pulley

SGB

Belt

Hot Water Diverter Valve

Zinc Dichromate

Condenser Coil

Drier

Hoses

Compressor to
Condenser

Compressor to
Evaporator

Condenser to Evaporator




Item Color ‘67 ‘68 ‘69 Comments AMK No
ALTERNATOR
Body Natural cast aluminum
Fan Zinc Dichromate
Pulley Zinc Dichromate
Spacer S-100 C5AE-10A370-B Pink Anodized Aluminum KIL B-10953 (1)

451D X 1.59L X 1.00D

Fan Lock Washer

Zinc Dichromate

Fan Nut Zinc Dichromate

Mounting bracket SGB

Mounting Bracket to Block

Mounting Bolts

Adjusting bracket SGB

Alternator to Adjuster Bolt

Adjuster Bracket to Block

Mounting Bolts

Alternator to Bracket Bolts

Alternator Belt

BATTERY

Tray SGB C8ZB-10732-A (45 amp)

Tray Attaching Bolts P&O 378178-S

Tray Attaching Nuts (J-Clip) |P&O 378680-S

Heat Shield SGB C8ZB-10A682 390 w/AC only

Hold Down Bracket SGB C5AB-10755
Plastic coated steel - Black

Hold down bolts P&O C5AB-10756

Hold down nuts P&O | 376838-S2

BRAKES

Power

Master Cylinder SGB

MC Cap SGB

PB Booster SGB

Brake lines Natural

Booster Vacuum Line (steel {Natural

connects to fitting at rear

manifold tap for PCV U tube

connection)

Booster Vacuum Hose Rubber

Booster Mounting nuts

Distribution block

Natural brass

Proportioning valve

Natural brass

Manual

Master Cylinder SGB
MC Cap SGB
Brake lines Natural
MC Mounting nuts Natural

Distribution block

Natural brass




Item Color ‘67 ‘68 ‘69 Comments AMK No

CARBURETOR Holley 4bbl 600cfm, Holley 4bbl 600cfm, vacuum Autolite 4300-A 4bbl Datestamp generally accepted to

vacuum secondaries secondaries (Model 4150) be 2-83 months prior to build date

(Model 4150)
Part Number C70F-A C70F-B C8OF-C (M) C8OF-D (AT)
C70F-C C70F-D

List
Metering blocks (f/r)
Spacer C6AZ-9A589-B C8AZ-9A589-G C9Z7-9A589-A

0.28" thick Bakelite, 0.28" thick Bakelite, has tab marked 15/16" thick aluminum, with

with small vacuum "FRONT" 5/8" heater nipples & 5/8"

hose nipple on rear PCV hose nipple on rear
Body
Fuel Bypass Zinc/Brass
Mounting Studs With C6 transmission includes:

1ea. - 5/16"-18-24 x 2 1/4" hollow
Natural stud (382768-S8), 3ea. - 5/16"-18-
Mounting Nuts Cad 351069-S8 351069-S8 351069-S8
Return Spring Painted C877-9737-A C977-9737-A / C9ZZ-9737-F|69 springs before / after 4-9-69
Black Green Blue-green / Yellow

Return spring bracket Natural C707-9741-B C707-9741-B n/a
Throttle Cable Bracket SGB n/a n/a C977-9741-C
Gasket - spacer to manifold
Gasket - Spacer to carb
Gasket Carb to Air Cleaner
Throttle Linkage Rod Natural C777Z-9A702-B C877Z-9A702-B n/a
Throttle Rod to Bellcrank  |Nylon
Bushing 7A440 7A440
Throttle Rod to Bellcrank  |Rubber
Grommet 379009-S 379009-S
Throttle rod to carb clip Natural
Choke Air Tubes and
Associated Items
Choke Air Tube Steel
Fresh Air Tube Steel
Air Tube S-clip Spring Steel
Choke Stove Hot Air Mesh |n/a Sintered steel mesh
DISTRIBUTOR
Distributor Natural C70F-12127-H C80F-12127-D C8OF-D used on 68 428's as well
Vacuum Advance Unit Natural
Distributor Cap Black Autolite
Hold down clamp Natural FEU-12270-A
Hold down bolt Zinc 358805-S8 w/washer
Coil Autolite yellow top ceramic
Coil Mtg Bracket Natural/SGB/P&0O
Coil Mtg Bracket Bolt P&O 378604-S2 w/washer




Item Color ‘67 ‘68 ‘69 Comments AMK No
Coil Mtg Bracket clamp Cad
screw/nut
ENGINE
Block FCB
Heads FCB C8AE-H
Valve Covers Chrome
Valve Cover Bolts 371065-S?
Valve Cover Gasket Silver upper side w/staples to hold
to covers
Water Pump FCB C8AE-A C9AE-A
Timing Cover FCB C3AE-6059-A
Timing Pointer FCB
Oil Pan FCB 5qt
Oil Pan Gasket Cork 2 piece gasket + 2 rubber seals
Qil Pan Bolts FCB
Oil Dipstick Tube FCB C70Z-6754-A
Oil Dipstick Chrome C70Z-6750-A
Oil Filter Adapter Natural C3AZ-6881-A CBAE-6881-A
Qil Pressure Switch Zinc
Qil filter White or Blue
Qil Drain Plug FCB
Intake Manifold FCB C6AE-C, C7AE-E/ CB8AE-A /C8AZ-9424-C C9ZE-A, C9ZE-B/ C9ZZ-
CB6AZ-9424-N 9424-A Square bore
C7 is Aluminum PI
Intake
Exhaust Manifolds
Thermostat Housing FCB C5AE-8592-A C8AE-8952-A C8AE-8952-A
C7AE-8952-A (P])
Fan Pulley SGB
Crankshatft Pulley Natural
Harmonic Balancer SGB/Rubber C4AE-6316-A C8AE-6316-A C8AE-6316-A
Temperature sending unit _|Brass
Transmission Vacuum Tube n/a 7B086 (?) n/a
at Carb Stud
Transmission Vacuum Tube n/a 376959-S n/a
at Carb Stud Clamp
Transmission Vacuum Tube|Natural 7B095 (?)
to Modulator
Transmission Vacuum Tube|Natural 7C072 (?)
to Trans Case Clip
Transmission Filler Tube
SGB

Transmission Dip Stick




Item Color ‘67 ‘68 ‘69 Comments AMK No
Natural
Transmission Tube to Head |P&0O 42772-S2
Mounting Bolt
Machine Screw - Hex Head Sems
External Sems - Grade 2
3/8-16, 5/8" L, 9/16" AF
ENGINE BAY MISC FASTENERS
Fenders and Aprons
Fender bolts Cad
378178-S39 (12)
P&O Machine Screw - Hex Washer
External Sems w/Leadpoint
5/16-18, 1.00" L, 7/8" OD
[5/16-18 X 1 1/16 1/2 AF .88 EXTERNAL ]
Fender Bolt J-Nuts P&O
379831-S2
Nut SJ Nut & Retainer Assy Design 2 has long formed thread
pecial - Design 2 :

5/16.18, 1.02" L, 67" W shank, no captive nut, and lower
flange of U bolt is rounded, not
square end

Inner Fender bolts P&O Cad May mount in either direction, all

must be consistent

378178-S39 (12) KHE B-11643 (12) / B-11644 (50)
Machine Screw - Hex Washer
External Sems w/Leadpoint
5/16-18, 1.00" L, 7/8" OD
[5/16-18 X 1 1/16 1/2 AF .88 EXTERNAL ]

Inner Fender Bolt - Nut Cad

55736-S2
Splash Shiled Upper Screw P&O

55914-S2
Valve Cover Bolts Cad Plated
Valve Cover Wire Hold- Steel/rubber dipped tip 353547-S8
down J-Clip Zinc w/rubber coating at tip FG B-13123 (2)

5/16 OPENING .53 W X 1.38 L X .41 HOLE
Exhaust manifold bolts P&O Ramp-loc
Export Brace to Firewall Zinc Dichromate 380999-S100 W/washer
Bolts NU B-11967 (2) / B-11556 (4)
P&O
7/16-14 X 1 1/4 5/8 AF 1.12 CONICAL
Export Brace to Firewall Zinc Dichromate 55740-S2
Nuts Zl B-12906 (4)
7/16-14 11/16 AF .93 OD .38 TK
Export Brace to Shock Carriage bolt
Tower Bolt P&O 378535-S2 KW B-12743 (6)
3/8-16 X 7/8 .80 OD
Export Brace to Shock
Tower Nut Cad Plated 377706-S7 HN B-12901 (6) / B-10474 (20)
3/8-16 GR-5 9/16 AF .75 OD .39 TK
Shock Absorber to Tower  |Cad Plated 42760-S8 w/external tooth washer NT B-12319 (4)
5/16-18 X 7/8 1/2 AF .58 EXTERNAL

Hood Hinges
Hood Hinges to Apron Bolt |Cad Plated 378178-S39 (2) |w/externa| tooth washer KHE B-11643 (12) / B-11644 (50)




Item Color ‘67 ‘68 ‘69 Comments AMK No
Maching Screw - Hex Washer
External Sems w/Leadpoint
5/16-18, 1.00" L, 7/8" OD
[5/16-18 X 1 1/16 1/2 AF .88 EXTERNAL ]
Hood Hinges to Apron Nut Captive nut in apron
Hood Hinges to Hood Bolt |Cad Plated 378178-S39 (4) KHE B-11643 (12) / B-11644 (50)
Machine Screw - Hex Washer w/external tooth washer
External Sems w/Leadpoint
5/16-18, 1.00" L, 7/8" OD
[5/16-18 X 1 1/16 1/2 AF .88 EXTERNAL ]
Hood Hinges to Hood U-nut |P&O 378681-S2 (4)
5/16-18, 1.31'L, .67"W
Hood Latch
Hood Latch Assy P&O C87ZB-16700
Hood catch P&O C7ZB-16929
Latch to hood bolts Cad Plated 378178-S39 (2) KHE B-11643 (12) / B-11644 (50)
Machine Screw - Hex Washer
External Sems w/Leadpoint
5/16-18, 1.00" L, 7/8" OD
[5/16-18 X 1 1/16 1/2 AF .88 EXTERNAL ]
Catch to support bolts Cad Plated 378178-S39 (2) KHE B-11643 (12) / B-11644 (50)
Machine Screw - Hex Washer
External Sems w/Leadpoint
5/16-18, 1.00" L, 7/8" OD
[5/16-18 X 1 1/16 1/2 AF .88 EXTERNAL ]
Fender to Apron Bolts
Hood Lip
Hood Lip Molding to Hood
Screws 379560-S101
Truss head Tapping Screw #8
18, 3/8'L, 3/8"(.364-.384")OD
FUEL SUPPLY
Fuel pump Natural/Zinc C6AZ-9350-B C7SZ-9350-A
Carter - Single Diaphragm 4194-S Carter - Single Diaphragm
4385
Fuel lines 3/8" (5/16" on SBF) Natural (steel/rubber)
Line grommet at apron Rubber [ C777-9288-A/C
Fuel line clamps Spring Style
Fuel Filter Natural C70Z-9155-A No in line filter from factory
|
HEATER AND RELATED COMPONENTS
Blower Motor SGB
Blower Motor Wires Brown/yellow
Blower Motor Feed Harness
(14401)
Feed harness (14401) to Black Nylon 374320-S (1) 1 slot for mounting, 3 adjusting
firewall clip slots AP B-13209 (2)
Nylon Loop Strap
Type 3
4 1/16"L x .12x.38" Hole Size x .45" W
[.44 W X 4.0 OAL ]
Heater hoses Rubber Black ribbed w/yellow or orange stripe w/Autolite logo Hoses run under spark plug wires

and emissions tubes

Inlet

C7AA-18472-AG (29.00" - 29.50")

Outlet

C7AA-18472-F (34.75" - 35.25")




Item Color

‘67

‘68

‘69

Comments

AMK No

Heater Hose Clamps Zinc

Wittek - tower

Late model 68's used stapled
clamps provided with the hoses

97356-S8 - 1 1/16"

Heater mounting nuts

Zinc Dichromate

370546-S100 (4)

W/sealer

1/4-20 7/16 AF .69 OD

Heater hose to water jacket [FCB

CB8AZ-18599-A

fitting
Heater Motor Heat Shield  |SGB C7ZA-19C842-A
Heat Shield Mounting P&O 42127-S2 (1)
Screw PP B-12079 (10)
Tapping Screw/Hex Washer 10
12 X 1/2 5/16 AF .40 OD
Heat Shield Mounting Nut _ |Zinc 33920-S8 (1) WG B-12775 (10)

Hex Nut 1/4-20 7/16 AF .16 TK

HOSES, BELTS AND SEALS

HOSES
Heater hoses Rubber FoMoCo Black ribbed w/yellow or Autolite w/orange stripe & Autolite logo Hoses run under spark plug wires
and emissions tubes
Inlet C7AA-18472-AG (29.00" - 29.50")
Outlet C7AA-18472-F (34.75" - 35.25")
Heater Hose Clamps Zinc Wittek - tower Late model 68's used stapled
clamps provided with the hoses
97356-S8 - 1 1/16"
Radiator Hoses FoMoCo/Autolite
Upper - Rad to Tstat C5AZ-8260-G C8ZE-8260-C
Lower Rad to WP
Radiator Hose Clamps Zinc Wittek - tower Wire style w/staples Wittek date coded for 67/68

Upper to Radiator

97630-S8 - 1 15/16"

Upper to Thermostat

97374-S8 - 2 3/16"

Lower to Radiator

97374-S8 - 2 3/16"

Lower to Water Pump

97379-S8 - 2 1/2"

Water Pump Bypass Rubber FoMoCo Black ribbed w/yellow or Autolite w/orange stripe & Autolite logo
Hose
Hose
Clamps Wittek - tower
97356-S8 - 1 1/16"
SEALS
Cowl to Hood Seal Black Rubber C7ZB-16A942
Cowl to Hood Seal White Nylon

Fasteners

Radiator Support to Hood  |Black Rubber
Seal

C4DB-16A238

Radiator Support to Hood

370168 / ESB-M1A111-A/ ESB-M1A1124

Seal Staples A(9)
BUMPERS

Hood to Fender - Rear Black Rubber C7WB-16578 (2)
Hood to Fender - Front Black Rubber C4DB-16578 (2)
Hood to Grille Black Rubber/Natural C47B-16763 (2)

Hood to Grille - Adjusting  [Cad
Nut

33922-S2 (2)




Item Color ‘67 ‘68 ‘69 Comments AMK No
Hood to Grille - U Nut to P&O 378680-S2 (2)
support
Nut -SU Nut ii Féela_inerz Assy Design 2 has long formed thread
pecial - Design :
5/16.18, 1.06" L, 67" W shank, no captive nut, and lower
flange of U bolt is rounded, not
square end
MISC ELECTRICAL COMPONENTS AND FASTENERS
Battery Cable - Positive Red
Battery Cable - Negative Black
Voltage Regulator Blue Autolite (riveted)
C8AF-10316-A (32-44 amp) C8TF-10316-A (55
amp)
VR Condenser Natural
Regulator mounting screw |Zinc 381922-S8
Hex Washer - Special
1/4-14, 5/8"L, 1/2"0D
VR Harness Feed to Rad |Black Nylon Plug fits to mounting surface, 2
Support clip 376914-S (strap) circle clips to mount back to plug LI B-13198 (6)
Nylon Loop Strap
Type 1
3 5/32"L x .235" Hole Size x .44" Max Width
.19 W X 3.12 OAL FITS .25 HOLE ]
Coil Autolite yellow top ceramic
Coil bracket SGB
Coil bracket bolt P&O
Engine ground strap Grey C8WB-14303-A
Engine ground strap to Zinc Dichromate
firewall screw 55981-S36 (1)
Tapping Screw
Hex Washer Head - Type AB
#1/4-14 x 1/2"L x 1/2" (.480/.520")OD
[3/8 AF .50 OD |
Engine ground strap to Zinc Dichromate
head bolt 20312-S36 Mounts to RH head, lower tap BBL | B-12096(S2 - 6) / B-11094 (S8 - 6)
Starter cable Black cloth
Starter Cable Clip to Block |Zinc/Rubber
Convertible Top
Feed - firewall to fuse Black wire C8ZB-15A669-A
Feed - clips to firewall to Black Nylon
tower brace 379061-S (3) LFR B-10974 (4)
.25 Opening x .37 W x1.06 L .03 - .12 P
Convertible top fuse C8ZB-14A094-A
Fuse to apron screws P&O 42381-S2 (2)
Hex Washer Head - Type B
#10-16, 3/4'L, 13/32 (.384/.414)0D
Feed to fuse nut Zinc Dichromate 34053-S36 (1) LYJ B-10501 (S2-12)
Hex Nut
10-24 3/8 AF .12 TK
Feed to fuse washer Zinc Dichromate 34803-S36 (1)
Lock Washer
#10 SIZE .20 X .32 X .05 TK BCW B-13043 (25)

WIRING




Item Color ‘67 ‘68 ‘69 Comments AMK No
13A357 Assembly (Hood
Mounted Turn Signals) C8ZB-13A357-A
Ground to firewall Black
Ground to hood Black
RH signal White/blue stripe
LH Signal Green/white stripe
14401 Assembly (Trans)
14401 Assy to Firewall Part per FAM no record in Ford
clip 382175-S (?) Fastener Guide
14289 Assembly
(Oil/Temp)
Temp sending wire Red/white stripe 90 degree press on connector
Oil Pressure Sending wire
White/red stripe 90 degree press on connector
Coil Red/green strip 90 degree press on connector
14289 Assy to firewall clip [Black Nylon 374320-S (1) 1 slot for mounting, 3 adjusting
slots AP B-13209 (2)
44 W X 4.0 OAL
14289 Assy to Valve Steel/rubber 356640-S100 (3)
Cover clip LH Valve Cover - inboard side
5/16 OPENING .53 W X 1.38 L X .33 HOLE
14290 Starter Relay (Main
Engine Harness)
Starter Relay + Starter positive + 2 smaller
connectors (others apply
Red, red, yellow+black depending on options)
Starter Relay - Black Black Black Black Starter feed wire
Starter Relay + (pin) Red/blue 90 degree press on connector
Starter Relay - (pin) Brown 90 degree press on connector
Starter Relay Mounting | Zinc
Screws 31497-S8 Q B-12094 (8) / B-10818 (25)
Tapping Screw
Hex Washer Head - Type AB
#14-14 x 1/2"L x 1/2"(.480/.520)0D
[1/4-14 X 1/2 3/8 AF .50 OD ]
Starter Relay connection |Zinc Dichromate
nuts 381561-S36 BF B-12836 (3)
Nut - Nut and Washer Assembly
Hex Nut & Conical Washer - Special
5/16-18 9/16 AF .56 OD
[.27 OAH] w/integral washer
Starter Relay Harness Black Nylon
(14290) to Apron clips 382184-S (2) RH Side below relay
.88 Capacity For 0.25 Hole KRA B-13118 (2)
Starter Relay Harness Black Nylon
(14290) to Lower Radiator
Support clips
Starter Relay Harness Black Nylon

(14290) to LH Apron clips

376756-S (6)

LH Side along apron and shock
tower

Nylon Loop Strap
Type 2
3 29/32"L x .235" Hole Size x .44" Max Width
[ .38 W X 3.92 OAL FITS .25 HOLE ]

Plug fits to mounting surface, 2
circle clips to mount back to plug




Item Color ‘67 ‘68 ‘69 Comments AMK No
Horn Feed to Radiator Black Nylon Rah and LH Radiator apron 2 per
Support Strap 376914-S (4 - strap) inner side LI B-13198 (6)
Nylon Loop Strap
Type 1 . .
35/32'L x .235" Hole Size x .44" Max Width | Plug fits to mounting surface, 2
.19 W X 3.12 OAL FITS .25 HOLE | circle clips to mount back to plug
15702 Assembly
(Optional Engine Bay Fixture mounts between hood
Lamp) C7ZB-15702-A louvers
Lamp Harness (15702) to |Black Nylon
Shock Tower clip 380753-S (1)
?
Lamp Harness (15702) to |Black Nylon
Shock Tower Brace Clips 379061-S (3) LFR B-10974 (4)
.25 Opening x .37 W x1.06 L .03 - .12 P
Lamp Harness (15702) to |Black Nylon
Hood Clip 372303-S (1)
.14 OPENING X .44 W X .85 H.02 - .05 P LFM B-10723 (2)
Lamp Harness (15702) to |Black Nylon
Hood Clip at Fixture 382963-S (1)
?
Lamp fixture to Hood Zinc Dichromate
Screw 55907-S36 (1) FG B-13418 (12) / B-11151 (40)
Tapping Screw
Hex Washer Head - Drill End #8-
18 x 5/8" L, 11/32" (.322/348")OD [
5/16 AF .40 OD]
Lamp Fixture to Hood Zinc Dichromate
Washer 34938-S36 (1)
Lcok Washer External Tooth
#8,.168/.176 ID, .365/.381" OD, .018/.023" Thk [
#8 SIZE 17X .37 0] KWA B-13034 (12)
Lamp Fixture Bulb C3VB-13730-A
Brake pressure switch
Alternator
Field
Voltage regulator
VR connector Multiple wires
VR condenser
HOOD MOUNTED TURN SIGNALS
Harness (13A357) P&O
Clip/Ground to Firewall 380923-S2 (1)
Tapping Screw
Hex Washer Head - Drill End #8-
18 x 5/8" L, 11/32" (.322/348")0D [ AMK 55907-S2 close #8-18 thread,
5/16 AF .40 OD] 1/2" L, same OD FG B-13418 (12)

Harness (13A357) to
Hood near firewall
(ground)

Zinc Dichromate

42120-S36 (2)

Tapping Screw
Hex Washer Head Type AB #10-
16 x 3/8L, 15/64" (.225/243")OD [
5/16 AF .40 OD]




Item Color ‘67 ‘68 ‘69 Comments AMK No
Harness (13A357) to Black Nylon Attach to hood near front hole
Hood at Front Clip where harness comes out of hood
near front/louvers. Part per FAM
379485-S (1) (?) no record in Ford Fastener Guide
Harness (13A357) to Black Nylon Attach to existing louver insert
Hood - Clips at Indicators studs. Part per FAM no record in
377774-S (4) (?) Ford Fastener Guide
Signal Insert Mounting Zinc Dichromate 353911-S100
Nuts n/a w/sealer (red) AM B-12955 (4) / B-11418 (12)
Stamped Nut - Multi- Thread Machine
Hex Flange - Uncapped w/Sealer
10-24 x.625" OD x 11/32 Hex, .270" Thk
[3/8 AF .620D ]
Signal Insert Mounting Natural
Studs ZK ZK : B-12600
10-24 x1.0"
POWER STEERING
PS Pump SGB/Teal
PS Pump Mounting Bracket |Natural 3A732
PS Pump Adjusting Bracket |SGB 3C511
PS Bracket to Block Spacer |O&P C7SZ-3D600-A
Only used w/o A/IC BGY B-13193 (1)
401D X .50 TK X 1.25 OD
PS Pump to Bracket 378338-S8
Mounting Bolts
PS Pump to Bracket O&P 377060-S2
Mounting Stud
PS Pump to Bracket Cad Plated 55713-S7
Mounting Stud Nut
PS Pump Dipstick Natural
PS Belt
PS Pump Upper Hose O&P 3E602
Bracket
PS Pump Upper Hose O&P 378720-S2
Bracket Nut
Nut - Hex Special
5/8-18, .188 Thk, 15/16" Hex - Gr2
PS Hoses
PS Pump to CV - Upper
(Supply - HP)
PS Pump to CV - Lower
(Supply - HP)
CV to Pump - (Return -
LP)
Return to Pump Clamp 97201-S8 Alternate 97237 per FAM HIK B-13089 (1)
Misc Clamp - Hose Clamp
Tangential Screw - Slotted Band 5/8", Misc Clamp - Hose Clamp
Open ID .70", Closed ID .55. .50" W, 1.00" Screw Tangential Screw - No Slot Band
length [ "5/8 5/8", Open ID .72", Closed ID .53. .38" W,

SIZE .70 MAX ID OPEN |

1.12" Screw length




Item Color ‘67 ‘68 ‘69 Comments AMK No
Return to Hose Nipple 97201-S8
Clamp Alternate 97237 per FAM HIK B-13089 (1)
Misc Clamp - Hose Clamp
Tangential Screw - Slotted Band 5/8", Misc Clamp - Hose Clamp
Open ID .70", Closed ID .55. .50" W, 1.00" Screw Tangential Screw - No Slot Band
length [ "5/8 5/8", Open ID .72", Closed ID .53. .38" W,
SIZE .70 MAX ID OPEN ] 1.12" Screw length
CV to Ram - Supply
CV to Ram - Return
PS Hose Insulator Bracket(SGB
PS Hose Insulator Rubber
Grommet
PS Hose Insulator Bolt to
Block
PS Hose Insulator Clamp
Bolt
PS Hoses to Control Zinc 351819-S8 Worm screw clamp (Hose clamp -
Valve Clamp Hex/slot head) HIK B-13089 (1)
Hose Clamp - Type 2 1
5/16" Dia, 1/2" W, 1/32" Thk ]
RADIATOR
Radiator SGB C77Z-8005-C C877-8005-C
23 1/4"X16"X2" 24 3/16"X16"X2 1/4"
Radiator Cap Autolite Zinc/Chrome
Fan shroud Natural black C777-8146-A C877-8146-A
Marked C7ZE-A No markings
Shroud to Radiator Screws 31498-S2 P B-12097 (S2 - 8) / B-10816 (S2 - 20)
Tapping Screw
Hex Washer Head - Type A #14-
10, 5/8" L, 1/2"(.480/.520)0D [1/4-
10 X 5/8 3/8 AF .50 0D ]
Shroud to Radiator Screw J-| 380250-S2 Identical to 383375 - AMK
Nuts references this number EK B-12258 (4)
Nut - Spring U Spring Nut
Special - Type 2 Tapping Thread
12-11, .62"L, .62" W
Fan SGB C60E-F C80OF-B
7 Blades - 18 1/4"
Fan Clutch Cad C7ZB-E CAQCE-A
Fan to Clutch Bolts 20326-S?
Bolt - Hex GR2
5/16-18, 5/8" L, 1/2" AF, 7/8'Thd
Fan to Clutch Bolt Washer 34806-S?
Washer - Spring Lock
5/16", .319/.333 ID, .591" OD, .078" Thk
[ 5/16 REGULAR .32 X .58 X .085 TK | GB | B-13049 (S2 -25) / B-13050 (S8 - 25)
Clutch to Water Pump 20427-S?
Pulley Bolts
Bolt - Hex GR2
5/16-24, 1 1/4" L, 1/2" AF, 7/8"Thd
Fan to Clutch Bolt Washer 34806-S?
Washer - Spring Lock
5/16", .319/.333 ID, .591" OD, .078" Thk
[5/16 REGULAR .32 X .58 X .085 TK ]
Fan Belt
Smog System
|Smog Pump [sGB C8AE-9A486-A C8AE-9A486-A




Item

Color

‘67

‘68

‘69

Comments

AMK No

Smog Pump Fan

Smog Pump Pulley

SGB

w/ A/C

(# CBOE-9C480-B) P/N C80Z-9B447-B

(# C9OE-9C480-A) p/n C90OZ-9B447-A

w/o A/C

(# C6AE-9B447-E) P/N

(# C8AE-9C480-A) p/n C8AZ-9B447-B

Air Bypass Valve

Natural (Aluminum)

Smog Pump Bracket

SGB

Smog Pump Bracket
Spacer

Exhaust Air Supply Manifold
- RH

FCB

Exhaust Air Supply Manifold
- LH

FCB

Exhaust Air Supply Manifold
Check Valve

FCB

C8AE-9A487-A

C8AE-9A487-A

Exhaust Air Supply Manifold
to Head Fitting

P&O

Hoses

Pump to Valve

Valve to RH

Valve to LH

Clamps

MISC VACUUM

Distributor Vacuum Control
Valve (Tree - 3 port)

Vacuum Lines

Front Manifold Fitting
(lower) to Air Cleaner
Motor

Rubber

Blue Stripe

Tree (Upper) to
Carburetor

Rubber

Yellow Stripe

Tree (Middle) to
Distributor (Primary
Diaphragm - front)

Rubber

Green Stripe

Tree (Lower)to T

Rubber

Red Stripe

T to Distributor
(Secondary Diaphragm -
rear)

Rubber

Red Stripe

T to Front Manifold Fitting
(top)

Rubber

Red Stripe

Rear Manifold fitting to
Smog Bypass Valve

Rubber

Black Stripe

'WINDSHIELD WASHER

Washer reservoir

Black\white or
Black\gold

White Nylon

Reservoir mounting screws

Cad

n/a - hanger

55981-S2 (3)

Tapping Screw
Hex Washer Head - Type AB #14-
14, 1/2" L, 1/2"(.480/.520)0D
[ 1/4-14 X 1/2 3/8 AF .50 OD ]

BBL

B-12096 (6)

Washer hose - reservoir to
pump

Rubber

Washer hose - reservoir to
pump clip

Black Nylon

376914-S (1 - strap)

Hose to firewall just below
reservoir




Item Color ‘67 ‘68 ‘69 Comments AMK No
Nylon Loop §1rap
Type 1
3 5/32"L x .235" Hole Size x .44" Max Width [
.19 W X 3.12 OAL FITS .25 HOLE ]
Washer Hose - pump to Rubber
nozzles
Washer nozzles
Nozzle and Tee mounting |P&O 373611-S2 (3) Identical to 55907 - AMK
screws references this number FG B-13418 (12) / B-11151 (40)
Tapping Screw
Hex Washer Head - Type AB #8-
18, 1/2" L, 11/32"(.322/.348)0D [8-
18 X 1/21/4 AF .34 OD ]
Nozzle hose tee White Plastic 374320-S (1 -adjustable strap)
Washer hose - firewall to  |Black Plastic

Tee strap




